
 
1 

874,397 + 372,382 = 
 

                      

                      

                      

                
 

 

                 

                      

 

 
2 

925 + 72.6 
 

                      

                      

                      

                
 

 

                 

                      

 

 
3 

270000 +  8000 +            + 20 + 7 = 278,627 
 

                      

                      

                      

                
 

 

                 

                      

 

 
4 

638.7 + 83.61 = 
 

                      

                      

                      

                
 

 

                 

                      

 



 
5 

374,946 – 82,494 = 
 

                      

                      

                      

                
 

 

                 

                      

 

 
6 

839,482 – 810,000 = 
 

                      

                      

                      

                
 

 

                 

                      

 

 
7 

83.1 – 49.07 = 
 

                      

                      

                      

                
 

 

                 

                      

 

 
8 

11 – 9.37 
 

                      

                      

                      

                
 

 

                 

                      

 



 
9 

400 x 90 
 

                      

                      

                      

                
 

 

                 

                      

 

 
10 

46 x 5 
 

                      

                      

                      

                
 

 

                 

                      

 

 
11 

936 x 25 
 

                      

                      

                      

                      

                      

                      

                      

                      

                
 

 

                 

                      

 

 



 
12 

56 ÷ 7 
 

                      

                      

                      

                
 

 

                 

                      

 

 
13 

 1689 ÷ 3 
 

                      

                      

                      

                
 

 

                 

                      

 

 
14 

3920 ÷ 35 
 

                      

                      

                      

                      

                      

                      

                      

                      

                
 

 

                 

                      

 



 
15 

8² = 
 

                      

                      

                      

                
 

 

                 

                      

 

 
16 

2³ = 
 

                      

                      

                      

                
 

 

                 

                      

 

 
17 

4² + 5² = 
 

                      

                      

                      

                
 

 

                 

                      

 

 
18 

5² - 2³ 
 

                      

                      

                      

                
 

 

                 

                      

 



 
19 

3 x 6 ÷ 2 = 
 

                      

                      

                      

                
 

 

                 

                      

 

 
20 

25 – 10 ÷ 5 = 
 

                      

                      

                      

                
 

 

                 

                      

 

 
21 

4 – 1 + 9 = 
 

                      

                      

                      

                
 

 

                 

                      

 

 
22 

100 ÷ ( 5² x 2 ) = 
 

                      

                      

                      

                
 

 

                 

                      

 


